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Important Instructions:
1) Use only black or blue ball pen for writing/marking.

2) Fill the complete circle like this P @ ‘ @ @

Correct / At =T

3) Write Roll Number and DOB in the boxes
and also fill corresponding circle. X

4) Out of Twelve digit Roll Number the Five ng /a3
digits are already filled and remaining
Seven digit are to be filled by student.

5) All items carry one mark each If your Roll Number is 329180210167
- then darken the circles as follows:
6) Use of white fluid is not allowed AT IT3T IG BET 329180210167
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State Level Test - 2018
I Yuet it - 2018
I n &<t (Class VIII)

SCHOLASTIC APTITUDE AND MENTAL ABILITY TEST
 fefprt S Gz W3 WsAE GarST Lﬂftm-l"'

Max Marks:180

Instructions for candidates :

1.

2.

A provxded for this purpose.

This exam in in two parts.

Part - I relates to Scholastic Aptitude Test which J

consists of 90 questions relating to three
subjects listed below :

i)  Science

ii) Mathematics

iii) Social Studles.

Part - II is related to Mental Ability Test whlch
consists of 90 questions.

" Each question carries one mark. All quesﬁdns

are compulsory.

You have been provided with an answer sheet’

(OMR) for this question paper. Darken the
correct option of each question in the answer
sheet (OMR) with black/blue ball pen. '

Rough work may be done on the blank space

»!

There is no negative marking in this test.

Do not use white fluid on OMR Answer Sheet.

Half an hour extra should be given to visually
impaired candidates only.
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SCHOLASTIC APTITUDE

What is the nature of an image formed by
a convex lens when an object is placed
between ‘f> and 2f*? :

1. Real, inverted and equal to the size of

the object.

2.  Real, inverted and larger than the size
of the object.

3.  Virtual, upright and equal to the size of

- the object.

4.. - Virtual, upright and larger than the s1ze
of the object. '

Air _ '

1.  Is a good conductor of electricity.

2.  Is abad conductor of electricity.

3. Resists electricity.

4. ' Is a semi-conductor of electricity.

Which planet is mearest to the Earth?
1. Mercury 2.  Mars
3. Venus . 4. Jupitcr

What is the maximw-‘}alue of sound (in .
decibels) after which the human body can

not bear .the sound/ it is harmful for the

ears? ,

1. >20db 2. >40db

3. >60db 4. >80db

S.L unit of temperature is

1. ' Kelvin . 2.  Fahrenheit
3. Centigrade 4. Joule

‘Which part of the eye is responsnble for eye

colour? o
1. Pupil 2. - Comea
3. Ims 4. Retina

Which out of the follong isan example of .

a non-contact force?

1.  Muscular force

2.  Frictional force

3. Attraction and repulsion between two
magnets. :

4.  Pushing an object using hands

»
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10.

11.

12.

13,

14.

15.

16.

1. Venus 2.

LN

3.  Sodium 4,

Which planet rotates from East to Wost on
its axis?

Saturn
3. Jupiter 4. Mars
How many Dynes are there in 1 Newton _
N)? _
1. 106 2. 104
3. 10 4. 100

Disturbances in which layer of Earth are

‘responsible for the cause of light tremors?

1. Mantle : - 2.

_ . Crust .
3. Outer Core 4,

Inner Core

What happens when two clouds of different
charges come in contact with each other?
1. Development of low pressure

2 Development of high pressure

3.  Electric emission
4

Electrolysis
S.L unit of pressure is _
Newton*meter (N¥m)
- Newton/meter? (N/m?)
Newton?/meter (NY/m?)
Pascal/meter (P/m)

Aluminium 2. Germanium

Which of the following is a semi-conductor.
1
3. Copper 4. Wood

Whlch of the followmg is not a Petroleum '

product?
1. Asphalt 2. - Insecticide
-3.  Artificial Rubber 4. - Water gas

Magnesium metal is present in which part
of plant? '

1. Chlorophyll 2.
3.  Water S 4.

) Haemoglobm
Wood

Whic metal is not reactive with acid and
water. . | :

1. Aluminium 2. Platinum
~ Cromium
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13,

14.

15.
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17.

18.

19.

20.

21.

22.

Which acid is present in Unripe mango?

1.  Citric acid. 2.
3.  Ascorbic acid 4.

Acetic acid
Tartaric acid

_ Name the raw material of synthetic fibre?

Cotton
Water

1. . Petro-chemicals 2.
3. Wood 4.

Which product is formed after bummg of
Magnesium ribbon? -
MgO,,

1. Mg(OH), 2.

3. MgO 4. MgO

Which gas is not evolved from vehicles?
1.  CO, - . 2. CO '

3. NO 4. SO,

Why immersion rods for heating liquids are

made up of metalli¢ substances?

1. Metals are msulators of heat and
- electricity.

2. Metals are conductors of heat and
electricity.

‘3. Non-metals should be used in place of

‘metal.

4, Metals are malleable

Which base is present in lime water"

1. Calcium oxide

2 Calcium dioxide
3.  Calcium hydroxide
4 Calcium Chloride

Which material is used for coating of

uniform of firemen?

1. Melamine 2.  Teflon

3. Polyester 4. Nylon

Which of the followmg is not a
thermoplastic?

1.  Polythene 2. P.V.C. .

3.  Melamine 4. Ball pointpen -

Out of the following: which one is not a
synthetic material ?

1.- Teflon 2.
3. - Starch 4.

Bakelite
Polythene

17.

18.

- 19.

20.

21.
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.27,

29.

31.

32.

33.

is ,
- 1. DNA 2..

Whlch gas is evolved during burning of coal
in the presence of air? v

1. co 2. CO,

3. SO, 4 HO

In plants, water is transported through

Phloem
Root hair

1. Xylem 2
3. Stomata 4,

In living organisms: the unit of Inheritance
RNA

3. Gene . 4.  Nucleus .

In plants ‘Citrus Canker’ disease is caused
by which microorganism.
1. Bacteria = 2.
3.. Vius 4.

Fungi
Protozoa

Which of the following is not true about

“Liver’.

1. Liveris areddish brown gland
2. Liver is situated in the upper part of
abdomen on the right side

- 3. Liver is the largest gland in our body -

4.-  Liver is situated in the upper part of the
abdomen on the left side.

In leguminous plants Rhizobium bacteria
works as
1.  Spreading of AIDS

Fermentation

2.
3. Fixing nitrogen
4

Producing Antibiotics -

The Ripened ovary in plants forms the

1. Seed 2.
3. Carpel - 4.

Stamen
Fruit

Who discovered fermentation in 1857.
1. . Louis Pasteur

2 Alexander fleming

3. - Edward Jenner

4 Robert Koch

26.

27.
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3s.

37.

38.

39.

Which of the following is not a Endocrine

gland in human beings.
1.  Adrenal 2.
3. Pituitary S 4

Thyroid
Sweat glands

After heavy exercise we get muscle cramps

because
1. Muscles works with the use of oxygen
2. Muscle cells respire anaerobically

3.  Accumulation of Lactic acid causes'.

muscle cramps
4.  In muscles alcohol i is produced

Which of the following is not a viral dlsease '

1. . Chicken Pox

2. Polio

3.  Hepatitis-A

4. Tuberculosis (T.B.)

Which of the following affects the ozone
layer.

1. Carbon-dioxide 2. CFC

3. Soot 4. Dust

During Pasteurisation, milk is heated upto.
1. 9%C 2. 70C
3. 80C 4. 100C

| The cell wall in plants cells is made up of
1. Protein 2. Fats :

3. Plasma 4 4. Cellulose

Match Column A with Column B.

A- ' B
(i) Gram Seeds (@) Urea
- (i) Rice (b) Kharif crops
(iii) Fertilizer (c) Silos

(iv) Storage (d) Rabi crops
(1) i-a,ii-b,iii-civ-d
@) I-d,ii-c,iii-b,iv-a
3) i-d,_ii-b,iii-a,iv-c
@) i-b,ii-aiii-c,iv-d

34.

35.

36.

37.

38.

39.
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41

42.

43.

45,

- 46.
47.

48.

Which of the following statement in false"

1) -7+(-6)=-13
@2 -5+1=4

@) 2+(-D=1

@4 8+(-9)=-1

Find the value of (2% + (2%’

@ o 2 32
3 1 @ 1

32

If each edge of a cube is doubled, how many

" times its volume increase?

(1) 2 times
(3) 6times

(2) 4 times
(4) 8times

7 Rupees 7 paisa can be written in rupees
ast.

(1) . Rs.7.07
(3) Rs.0.707

(2) Rs.7.70
4) Rs.770

~ The folloWing figures repi‘esent

) 1+3 @ 3x1
3) 3x3 @ 3:1
2 - 4

Maxnmum numbers of nght angles i in a
rlght angled triangle are

1 2 @ 1
3 3 4 o
If2"x 3" x 5 = 1, then what is the value of x
1 1 2 1
30 o
3) 30 ' 4 0
Sum of all exterior angles of a pentagon is
a1 90’ 2) 180
3) 360" €))

540’

\

41.

42.

43.

44.

45.

46.

47.

48.

[0}

(3)

3
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) -7+(-6=-13
-5+1=4

3) 2+(-D=1

@4 8+(-9=-1
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49.

. 80.

. 51,

52,

53.

If d in the diameter of a circle, then its area
in:- '

1 =d @ nd
4 2
3 nd @ omd

Perimeter of parallelogr:iin PQRS is

1) 12cm (2 7cm
3) 19cm - (4) 38cm
P | Q.

S | 12cm R
Numbers of vertices and edges in a cuboid
are |
(1) 6,6
(3) 6,12

2 68
@ 812

Some integers are marked on a board, what

is the range of those integers.

(1) 31 2) 37
3) 20 @ 3
0 15
-1 17
+20
6 -4 \

Write down the aigebra_ic éxpression for
" . 5 multiplied with P"'.

(1) P-5 @ P-5)
(3 -5P @ P
’ -5

In a class, there are 20 boys and 15 girls.

Find the ratio of girls to boys.
(1) 34 2) 43
3) 115 @ 2011

- 49,

50.

51,

52.

53.

54

a0 d o'y a9 o fanm 39 3t ASgeE 3R

am
1) nd 2 nd
3) md @ 2nd
AHI3T 939gH PQRS e uforry J=ar|
1 12cm - 2) 7cm
(3) 19cm 4) 38cm
P Q.
Tem
S 12cm R
JeqI : '
(1) 6,6 (2 6,8
(3) 6,12 4 812 |
§35 3 fodibit fiyas Afinnet St fegss Aiir
yIT 31 | | -
() 31 Q@ 37
3 20 . @ 3
o 5|
-11 -17
+20
6 -4

"P§—s'ma€raaw”fenm$e‘r |
foima 92761 |

1) P-5 2) P-(-5
3 -5P 4). P_

-5.
fo'a 7 &9 20 48 M3 15 gt IS5
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(1) 34 ~ 2) 43

3) 1:15 ’ 4) 20:1




SS.

56.

57.

58.

59,
~ shows-that 25% children like to play
~ football among them. How many of them

61.

62.

w1

3. Bituminus 4,

How many symmetric lines are there in the

following ﬁgure AL

@ 2

3) 5 @7
A polygon with five sides is called?
(1) Right angle (2) Triangle

(3) Pentagon (4) Quadrilateral

If two ratios are equal then these are in

proportion and ....... symbol is used for this.
@ @ -
3) :: @ #

Find the largest number among 38.88,
8.088, 88.8 and 88.08.
(1) 38.88
(3) 888

() 8088
@) 8808

There are 40 children in a group. Survey

do not like to play football?
1) 10 2 20
3 30 4 35
Write the following in decimal form :-
3 + 10
@ 3.07 2) 3.7
(3) 037 4 370

Which type of coal is consndered the best
coal?
1> Lignite 2. Anthracxte

Peat

Which country produces the maximum
Gold in the world?

1.  Japan 20
3.  China 4.

France
South Africa

55.

56.

57.

58.

59.

60.

61.

62.

() 30

fe'3 ore fa'se fa'e mifirat duret & forest

U q3:-

1 1 @ 2

G 5 @ 7
wmwmﬂgmwwm
(1) mEE - ) f3gw

(3) UdHAgH (4) u3IgH

AT T AGU'S IS TS 3t fea mivs migura
f@'9 95 »3 feast =9t ... foq <t we3
AR

S ()}

(3) i ‘ 4 =

38.88, soss 888»@8808&‘@‘“@‘
#‘a‘t#fwre’m B
(2) 8.088

- (1) 38.88
(3) 888 (4) 88.08
40 Sfaonrt @ AORYE J U B fir 25% ¥
mmmmmﬁmﬁ
. §US UFeET Ye 5t q9e)
a 10 @ 20
@ 35

34% & emmw gy feu fod

2) | 3.7

A 3.07

3) 037 (4) 37.0
gaa#rfamefﬁwazé‘mrﬂfaww
?

(1) feasee (2) Mgnreie
(3) fagian 4) dWe

ﬁmwn?ﬁﬁmﬂwmwéu
fagzr 37

1) suUs - (2) ‘R
(3) s (4) TYST wedaEr



